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B. A. (GENERAL) ECONOMICS (BAG) 

Term-End Examination 

June, 2024 

BECE-145 : INDIAN ECONOMY—I 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions as per the instructions 

given in each Section.  

Section—A  

Note : Answer any two questions in about  

500 words each. 2×20=40 

1. Analyse the two major approaches of 

development pursued in India. 

2. Discuss the importance of infrastructure in the 

development of a country. 
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3. How is human capital defined ? Would you say 

that the expansion in education sector kept 

pace with the requirement of the economy ? 

4. Explain the different methods of measurement 

of poverty. 

Section—B  

Note : Answer any three questions in about  

250 words each. 3×10=30 

5. What is income inequality ? Distinguish 

between horizontal and vertical inequality. 

6. What is labour force ? How is rate of 

unemployment estimated ? 

7. Give a comparative profile of structural 

changes between India and developed 

countries. 

8. Give an account of deficits of development in 

India in comparison to other economies. 
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9. What do you mean by current account deficit in 

Balance of Payment ? Also highlight its 

importance for economic growth. 

Section—C  

Note : Attempt all questions from this  

Section. 

10. Distinguish between any three of the  

following :  3×5=15 

(a) Open unemployment and disguised 

unemployment 

(b) Sex ratio and dependency ratio 

(c) Preventive healthcare and curative 

healthcare 

(d) Organized sector and unorganised sector 

(e) WFPR and LFPR 
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11. Write short notes on any three of the  

following :  3×5=15 

(a) Trade-GDP Ratio 

(b) ICOR 

(c) Population Pyramid 

(d) National Food Security Act, 2013 

(e) Sectoral Divergence 
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